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MBI MARY PPV IR ROV M AR — X 7 said; if he claims and
says, etc.

Overview

The X3 discusses how it is possible to find 2>7v that the p1in was in
possession of his house for three consecutive years day and night. »2aX
answered that the neighbors know. X271 answered that the 2°7¥ are the tenants
who lived there for the past three years (but did not pay the rent as of yet).
X1 1 assumes that 2>7v who testify that the p°1mn lived in this house for
three years, are acceptable, even if they do not say we know he was there all
the days and nights. However if the 7v7yn claims that he knows for sure that
the P>mn was not there on certain nights, then the P in is obligated to
produce witnesses that he lived there 77°221 212 w"3. The & 13 concludes that
X017 7 admits that if the 7y yn was a peddler, then 72 will demand that
the 0>7v for the poin testify specifically that he lived there 77°%21 ora w"a.
This is the interpretation and text of the X3 according to the 2"2wA. Our
mooin will briefly discuss the opinion of the 0"aw7, and then offer two
alternate interpretations of the X77a.

mooIn asks a question:

DILNPA WITEH 997n 93 prxs %39 awpn — The 2"a3% has a difficulty;
according to the interpretation of '[2"2w"] (>"'@1) who maintains that (unless
the 7yvn specifically demands it) all that the 2°7y are required to testify is that the p>1mn
lived here for three years, without being specific whether it was 17%°221 212 "3 or not -

"1 YV XY %5 — even if the 7w yn did not claim that the 1 should produce
witnesses that he lived in the house three complete years day and night —

2 HRw1 85 R2KR — why should we (7"°2) not ask the o>y whether the P was
there 79°921 012 w"3, the reason we should ask, is —

Mmoo By PYTY 3R X2w 92 — because perhaps the o7V do not know

concerning the nights, whether the p1n» indeed was there®. Probing these 0>7v will
assure —

TS RPW 1795 B Xoxu XYY — that we do not unjustifiably remove the
qv7yn from his property, based on their testimony.

" The o7umpi w1%d generally refers to *"w9. We do not have "% on this Xn3. Here are some options to
choose from. A. M0n (as well as the 0"2w") perhaps had a previous version of '@ on 2"2, B. nvo1n
refers to 0"2w" "5 as the 07vNPR W10 since it filled that void. C. The a"awA perhaps also distributed his
w170 in 0°070P as *"'wn did.

? We are not concerned that perhaps the 079 know that the p*m was not there during the nights. If that were
the case, they would not, in good conscience, testify that the P11 made a proper 7pim.
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75° PRWTT UK MY 9227 — for by all testimony we inquire properly to
assure that the verdict is based on proper testimony —

PECR NN MMPII KXY OXBX M1 N2 — and here also, why do we not

investigate them on account of the doubt that we have, namely that they are not
aware concerning the nights’.

MDOIN answers:
X7 827°0 WX®1 — however this is not a valid challenge —

29197 DY 17w 11957 — for since they testified concerning the days; that the
P i was there during the days —

192K Y9958 — even if the 2°7¥ were to say (originally, or) subsequently after we
question them —

MY By 29971 1R PR — we do not know concerning the nights; whether
the P>1 was there or not, nevertheless —

2%7%2 7R 190 Kanon — it is presumed that since he dwelled in the house
during the days -

Mbvha 521 77 — he dwelt there also in the nights. Therefore there is no point in
questioning the “ovry —

YRR WY XY a8 — unless the ayay» claims -

27 XY X727 — that the > certainly did not dwell in the house during the
nightsS. In that case we will require that the pnn produce 2°7y who will testify
specifically that the P17 was there by nights as well.

The opinion of the 0"2w" may be summarized as follows: According to ¥27 it is always
necessary to have 0°7v who can testify that the 2y7v» was there 712°%21 012 w"x (regardless
of what the v vn claims). X7V 7% maintains that if the “¥7y» claims that he was not
there certain nights then X0 9 would agree with X27; that 79921 o1 w"y MY is
required. However If the 7y7¥» makes no specific claims, then a general testimony that
the P11 lived there "3 is sufficient. There is a difference of opinions as to the ruling of
»aX. Some maintain that »aX disagrees with &27 and X7 »; that according to *aX the
neighbors are always satisfactory witnesses (regardless of what the 2y7vn claims); while
others maintain that if the 2¥7vy» contends that he knows for sure that the »>1n was not
there certain nights, then °22°% are not accepted and we need 2’7V (tenants) who can
testify that the p1n was there 719°%21 012 w"x (similar to the opinion of XYW 7).
According to this latter opinion it is also a matter of contention whether X707 7 requires
"22°w as »aX does, or any 0’7V are sufficient.

? The "2 assumes that the reason the 0"2w" maintains that a general testimony is sufficient, is because
we assume that when the 0°7v state that the p°11n lived here three years, they meant to say that he lived here
72°921 012 w"a. Therefore the 0"27 asks why we should not verify exactly what the 0°7v meant.

* Mmoo maintains that the reason a general testimony is sufficient is (not because we assume that the o7y
mean that the p1mn lived here 71°221 012 w"3, but rather) because we assume that if he was there generally,
it can be assumed that he was there 77°72) 012 w"3.

> When the 1ywn claims that he knows for sure that the Pt was not there all the nights, then we cannot
rely on the assumption, that since he was generally there, he most probably was there all the nights as well.
Instead we need proper evidence to refute the sy yn claim.
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II
mooIn offers a different interpretation of s'X70T 7n statement:
w5 YR 1127 — and the 1" explained -
9% 297 NR2T9BR ORP Nww w7 — that X9wyw » is referring back to the
challenge that 9%%> 29 posed to *wx 27 concerning s'827 statement —
7 IMTY2 PYaa 8T — for 1 17 challenged s'%27 answer, claiming that the
tenants who testify, their testimony is biased!
NI 9% MR — and XY 9% responded to this challenge of 7% 27, saying —
PITTIRT MRY 1YY SR — if the POt claims and says in response to the challenge that
he should produce a°7v that he lived there 77°921 012 w"3; the °11n responds, that —
*7770 90 1N — let two witnesses come, i.e. tenants —
ovea1 23 2% whw ;192 %1977 — who lived there three years day and night —
R73K %% 1277 — and they paid me the rent for the three years —
1772 19181 3231 — and they left my house and went away —
1772 99977 1737 — and those tenants that live in my house now —
177101 919K — they are other tenants; not the tenants that will testify —

71vw 1nIvw — his claim is a valid claim’; and these former tenants will be accepted as
valid o7y —

mooIn will now explains why in this case there is no concern of JM7¥2 YA A synopsis of
mooIn explanation follows:

In the previous case of X271 where the 07y are the current tenants there is a m7v2 7v°Al. The
tenants are aware that the ownership of the house is being contested. They already paid rent to
the p>1n. If the 7v7yn wins the case and retrieves the house they will have to repay the rent to
the 7y vn. The 7y vn is aware that they are living in this house. It is in the interest of the
tenants that the P17 retain the house. Therefore their testimony is biased and not acceptable.
In this proposed case by X7 7, the tenants who will testify have vacated; the 2¥7vn is not
aware that they lived there previously. To these tenants it makes no difference who wins the
case. Even if the 2v¥n wins he will not bother them for the rent; he does not even know them
to be tenants. That is why they are not n17v2 van.

N"OIN continues:
37 IMITY2 YA XYY — and the former tenants are not biased in their testimony

RS 772 97 XY [PR7]7 - for these former tenants are not living now in the
house —

1719 "o 93n7 — that the 2vvn should be capable of saying to them —

® This is different than the X071 of the 2"2w and our M3 where the text reads 777 instead of 1177. According to
the 0"2w" the o>y testify that the 111 lived there — 777. However according to the 1" the o7y themselves lived
there — 1777.

7 See later in this Mmoo why the expression 7y MY is used instead of M7y 117y, which seems more
appropriate. See footnote # 17. See “Thinking it over # 3.

¥ See n"a1 M.
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RN "R 9 1277 — give me the rent for the house (which was the reason = 29
challenged X217 that the °7¥ are M7vy2 va1). In this case it is not so. The 2>7¥ have nothing to
fear from the v yn. The reason they need not fear the 7¥7vn even after they testify and the
7v7yn becomes aware that they lived in the house for the past three years, is since it was —

RIT97 1R 178 K2R — only they who admitted and said we lived here for three
years 117°921 012 (the 7v1yn did not know about it)

1Y9D 12K 179K — and it is they who say we paid the rent to the P>t (making him
the *ptmn and therefore freeing themselves from any obligation to the 2y¥y»)

Vaonmw mom X7 "o8w 757w — for the same mouth that bound them to the
vyn (by saying we lived in the house that you claim as yours); that is the
same mouth that frees them from the “vwn.!!

mooIn explains that it is considered MOXW 7197, because they were in a compromising situation
only on their own accord, through their own testimony —

792 RI797 XY 2R opa 987 — for if they wished they could have said we never
lived in that house -
WD WOMDR RRYITT mmd X291 — and we cannot say that perhaps the wawn

would contradict them if they would have said that we never lived there, therefore they
had to come and testify to protect themselves. This is not so —

595 YT 7177 K9 R — because the 7vvn did not know altogether —
N2 ININ2 2997 1w — that they lived in that house.

According to this interpretation of the n"9, there will also be a change in the X073 in the
following Xana.

ROWIT % 77 39073 K9 o2 — and in the following X123 the text does not
read; ‘R 9% admits’,

° It would seem that the 11" is of the opinion that a 7Pt of a rental property requires two conditions; a) that the
renters lived there 77°221 212 w"3 (so the 2¥wn cannot claim that it was not a proper p11) and b) that the P>
receives the rent; for only through receiving the rent, does the 211 become the p1in. See ‘Thinking it over’ # 1.
10°A classic case of 7°naw 7977 X7 10X 71977 is @ woman who comes to 7" and states; “I was once married, and
now I am single”. When 7"°2 does not know the (past) status of a woman and she claims she is single, the woman
is believed. If 7""2 knows that the woman was once married, then the woman must bring proof that she is now
single. If the only way we know that she was once married is through her admission, then we say q0Xw 71577 the
woman who said she was once married (and thus forbidden to marry) — 2°naw 7157 X377 is the same woman who
claims that she is now single (and permitted to marry). The woman is believed. We cannot prevent her from
remarrying, since the only reason to prevent her from marrying is her exclusive testimony that she was once
married, however she simultaneously proclaims that she is now single.

' When the o°7v state 7"2 X177, they place themselves at risk; for the 7v7¥n can then demand the rent from them
(since merely living there three years does not accomplish a 7117 for the P>t — see previous footnote # 9).
However since they conclude simultaneously that we paid the three year rent to the 11 (making him a prmn),
that removes any threat from the 7¥7yn. The concept of 121 70RW 71571 is that the testimony is not viewed as two
separate statements: a. we lived there, so you have a claim against us; and b. but we paid the P>, so we do not
owe you; for then they would be m7v2a ¥y for they are testifying that they paid the °11 in order to make him a
P1mn. Rather it is considered as one statement; ‘the house belongs to the 21’ (because we lived there and paid
him the rent); therefore there is no N7y YA,
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N2 777 KPR — but rather the text reads; ‘and 829 admits’; for it was 837 —
RV99921 N2 AR whw w2t — who required that there be witnesses who can
testify that the p>1mn was there three years by day and by night, nevertheless —
27y 717 2R — if these witnesses, who testify that they were tenants for three years —
nssya v 2990 [an] — [they] are peddlers who travel to various
cities to peddle their merchandise; then X271 admits that —

2R K97 23 H¥ X — even though they did not say —

RY99921 Ramo2 I whw 792 1977 — that they lived there three years day and
night —

N3 77T 797 99792 R R9X — but rather they say that this house was in our
possession —

moIXn 2w whw — three consecutive years; they were the tenants all the time, then —
2937 2929 23 Y nX — even though that for many days —

n»ya asnn a7 — they are visiting other cities —

nva77 ;2 [P2e15] 1977 891 — and they were not sleeping over in this house during
those times, nevertheless —

M7y 3117 — their testimony is a valid testimony:; and it is considered that the P
made a proper p1M.

The reason the "7 changes the X0 from X 0 A 77 (as it is in our M M3, which is the
X073 of the 0"2aw") to X271 7M1 is as follows:

According to the 2"2w", X W 7n stated that (only) the 937¥n can demand 79°921 012 "y M7y,
however 7"2 does not demand such M7y. Therefore the X M3 continues that X707 77 admits
that if the 9vvn is a 951, then even if the v v» does not demand 7">2 will demand " M7y
292 ara.

However according to the 11", X701 77 is merely interpreting s'827 answer that it is possible
to find tenants to testify 79°721 01°2 w"3 and not be M7ya v, It was however 827 who insisted
that we must find 0>7v for 77°221 012 w"s (as opposed to »ax, who maintains that neighbors are
sufficient). Therefore it follows that it is X327 who is 77 that there are circumstances — by
12977 — where M7 of 79°%21 o2 w3 NP1 is not strictly required.

The opinion of the 117 may be summarized as follows: X1 1 is explaining &27. That it is
possible to have the tenants as 0’79 (even if they already paid the rent) provided that the o>y
tenants do not presently live there and the “¥7vn is not aware of their previous tenancy. In
addition; X127 agrees that the acceptability of tenant 0°7¥ applies even if the tenants do not live
in the house continually but leave town to peddle wares elsewhere.

' See n"21 M.

" See n"2 M.

'* This does not necessarily mean that the " changes the X073 to read m7y 1m7y. The X071 can still be 3"yx7
"% 12130 v K77, The meaning would be that if the p>1nn is hesitant to bring these tenants as 0>7¥, because he
mistakenly assumes that they are not valid, then 7"°2 will encourage him to bring them as 0>7v. See footnote # 19.
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II1
mooIn offers yet a different interpretation of the X°x10:
93 an 1229 — and the n''9 maintains that the text reads (not 177 as the 2"2w would
have it and not 1777 as the 11" maintains, but rather) —
21w wHW 792 R199977 — that I (the p°1nn) lived there three years.
9 K792 RN K2 ManT waR) — and the "7 explained that »ax and X2
both maintain —
297Y K272 X PR7 — that it is not necessary to bring witnesses to testify —

M7 Y 2907 B — concerning the days and the nights. »ax said so clearly; for
"X maintained that the neighbors are sufficient to testify concerning the v"x. Even X217 who is
seemingly saying that (only) the tenants can testify for the Mm% o> w"3, nevertheless X217
does not maintain that it is required to have 0>7v for m?"7 27> w"3 —

RV59927 X202 9K KD 8271 — for 827 did not state that the tenants can testify for
the days and the nights to imply that it must be this way, but rather —
NN20R Twpnn R9X1TY K9R — only for the purpose of disabusing the questioner

from his conviction that it is impossible to find witnesses who can testify concerning the
entire three years by day and by night. X327 pointed out that technically it is possible to find
such witnesses, 1.e. tenants. However 821 —

RNR "2RK 931959 K9 — had no intention of arguing with a8, who states that
neighbors are sufficient witnesses, even though they cannot testify with certainty that the
P1n was there 77°221 012 W', X21 agrees with »ax.

X0 77 is explaining the opinions of X271 *°2X:

NIUIT 9% 92K — and XY 9% said that X271 X also agree that —
*117°w7 R a8— if the P> said to witnesses testify on my behalf'®
% ' snaTw an® — that I generally lived here three years —
Mb¥%1 29 npna — presumably days and nights —

wnn INT KOW 95 HY X — even though the witnesses did not actually see that he
lived there —

Mb¥%51 21 @991 ©o — all the days and all the nights of this three year period —

MIR PPIR 32 NPIaw X9X — but rather they assume this presumption —

2°0101 1w YW Yow — because whenever they would enter the house —

79992 2o%pDY a2 2vmyd — sometimes during the day and sometimes during
the night —

N33 NN PRI 197 — the 0°7Y would see the 2111 in his house. X107 9n maintains
that —

myw onivw — the claim of the p°1mn that these witnesses should testify is a valid
claim, and we accept these witnesses'®.

' Perhaps X701 7 claims that even *22°w are not required; any 079 can testify to this effect.
' It seems that only if the prin claims that these 2°7v should be accepted, does 7"2 accept them. However
initially 7"»2 would not encourage these 0>7¥ to come and testify.
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Mmoo anticipates a difficulty with the s'n"= explanation:
2%va® 199 11 — and X107 7 should have worded his ruling by saying

M7y M7y — that their testimony is a valid testimony instead of what X7 »
actually said that m1yv "nivw. Saying M7y 1mM7v would make it clear that a general testimony is
also sufficient.

mooIn responds that it is not that difficult; even though it should have been worded M7y
my

7ON9OMT KW ¥PIT 23R XOX — however, on account that in the beginning of
s'X701T 7 statement he used the term —

1Y oKX — ‘“if the 9y v would claim’; therefore since he started with that term —

TIYY TONIYY v IR — he also said in the conclusion of his statement that ‘his

claim is a valid claim.!” The real intention of X v Tn, however, is that it is a valid
testimony.

mooIn now concludes with the interpretation of the N3 concerning 121 771 :
WaRY KWW W PTT XU K2V 77 — and X217 admits [and similarly XM on
and 2K whose names are not mentioned here together with X2 77121; they also agree]18 -

Ma%pa PR 19912 — concerning peddlers who circulate in various cities
peddling their wares, and are coming to testify on behalf of the p>1rn, that —

799 3P PR K97 23 9 X — even though the p°1n himself did not claim that
he wants them to testify, since he knows for sure that they cannot testify
concerning the entire three years (in which case 7"°2 would not ordinarily
encourage them to testify), nevertheless we (7''92) will argue on his behalf that
they should testify19 -

wWRn IR TOPAR 2993 PR — because it is not necessary that the o°951
actually saw the »>11n in the house for the full three years. The reason 7"2 does not require
them to testify for the full three years is —

MY 29 o 9w — for these witnesses are travelling in various cities
ORI DY 7OpAR 19120 PR — and they cannot testify about seeing the pimin in the
house for three full years®® —

N7 77T 107 INPIIAw 1790 K9R — however they may testify that this house was
in the possession of the p>1rn, generally for —

"7 See footnote # 7.

'8 The reason we mention only X2, even though X701 1 »2X also agree that we are lenient with 27y who are
79977, is because X321 stated the most stringent requirements for these 07y (and even though ¥37 does not actually
require that stringency, nevertheless he verbalized it). The X723 is saying that even X237 who is supposedly the
most stringent is (also) lenient concerning the 17217,

¥ See footnote # 14.

%% 0" maintains that we never strictly require 07¥ that can testify that the p*1in was there 7221 ova w'"s. It is
sufficient to have 0>7v that testify that the p>1mn was there whenever they came. However, that is only if the p>1rn
demands that we accept such 0>7y; 7"*2 does not encourage it. If, however, the 0>7y are 1911 then 72 will
encourage (the 1 to bring) them to testify.
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nY?99 29y o whHw — three years, days and nights.

Summary
A. Y0 XY RVIT ) IR

a. 0"2w" — if the 7wvn claims that the P11 was not there at nights we require
M7y for 7°%21 oM W'

b. 1" — (X707 M is explaining X27) If the p1n says I have tenants who left,
they may testify, for they have no 7y°a1.

c. 0" (X701 77 is explaining X271 *°aX) The 27117 can bring 0°7Y that they always
saw him whenever they came to his house (no 177°921 01°2 w"3 is required).

B. [X27] [R70Y7 9] 77

a. 0"2w" — X M agrees that if the y7wn is a 2217 we require 22 W'y MY
irkirin

b. "1 — X271 agrees that if the tenants are 19211 they are proper 0°73.

c. 0" — X217 (and R0 M MIR) agree[s] that P01 are encouraged to testify as
tenants.

Thinking it over

1. If we were to assume that the 1" maintains that a 711 of M17°2W requires that
the 1 receive the rent”'; how can we explain that which X2 stated previously
that we are discussing a case where the tenants did not pay the rent yet?

2. According to the 1", that X217 agrees that 12217 tenants can be proper 273,
what would be the ruling if the p>1 himself is a 511, would it be a proper fpIm
even though he is not there 75221 o2 w"32*

3. Why does mpoin ask that it should have said M7y 1m7Y (instead of 71vv NIYY)
on the N1 only and not on the n"1?*

4. According to the n"9 if P2217 are permitted to testify, even though they were
not there 777°%21 012 w"3, why in all other cases is it required that they should
testify 77°921 012 w"s?

2 See footnote # 19.
2 See v
2 See footnote # 7.
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